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4. Write cach combination of vectors as a single vector.

(a) PO + OR (b) RP + PS (N?4 QR = PR
¢) OS — PS (d) RS + 5P + PO
2 2 ] ¢ N e 455 = RS
]
4 () Q- PS = P -

5. Copy the vectors in the figure and use them to draw the
following vectors.

(a) u+v (byu-—v
(c)v+w (dw+v+u
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13~16 Find the sum of the given vectors and illustrate
geometrically.

13. (—1,4), (6,-2) 15 (0,1,2), (0,0, -3)
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17-20 Finda + b, 2a + 3b.)|a|tand||a - blf
17. a= (5, —-12), b= (-3, —6)
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21-23 Find a unit vector that has the same direction as the given

vector. _
o >
21, —31 + 7 ¢ = <ol Conic
' - — o>
L ) =<t Rasis o
L= 0,00 7{3\3

— (3,007 + L0,F,07
= < "”7)/ j—/ o>
45. Use vectors to prove that the line joining the midpoints of

two sides of a triangle is parallel to the third side and half
its length.
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